7/14/2015 Print Test

PRINTABLE VERSION

Quiz 1
You scored 100 out of 100
Question 1 .
Your answer 1s CORRECT.
Find the domain of the following function.
f=dTE=g = o
a) (-, 4/7) Ix-4 20
b) (4/7,m) :l'!( 2 +
X2t
¢) (w,m) +
&
[4/7.%) —Ewap : 2,-)
4
e) (-0, 4/7] E?
f)  None of the above.
Question 2
Your answer 1s CORRECT.
Find the domain of the following function.
Rod' cal
o= 2/
A
X-b #0
a)  [2,00) X-220 X6
>
2,6)0(6,%) x=z
T >
0 (@) ¢ £
< &—>
d) (-o0,6)(6,0) 6

e) (2,6)-(6,m) [2; B) v (6,00)
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f)  None of the above.

Question 3

Your answer 1s CORRECT.

I
e 3 s

find
Jlx—3]
2
g) O 255 — 155 +5 fies): (x-5) "+ 3(x-5) +S

b) 43410 xz-“)&'l- 25'+3x-l§{-5

@ W STRE 15

g K +13x+45

Xt-Ix+ 15

e) x2+3x

f)  None of the above.

Question 4
Your answer 1s CORRECT.

Given

find the difference quotient

Jlx+ k) —Flx)

) Y
2
A+ 2xh+h —dx—3h+5 O fixtn) = (xth) - 4Ixth),5
Y ;3 I Flx) 2 x2hxa - 4x-4h t5

b) - TEEEETE g foem - F) @ Fus) - Foo

o Farer 3 Banfe) SRRt

2%+ ik —4 h :éhxf-;h’-?h o
h)-f0) = -
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e) h

f) ~ None of the above.

Question 5

Your answer1s CORRECT.

Given

u

Inc:
(-3,0)v (13)
v (S, 06)

Domain: ['3' b)
Rm-sc. : ['211]
. : (014')
{

gL-2):=0 /

Which of the following statement(s) is true?

I The domain of g(x) is [-3,6). |

II. The range of g(x)is [-2,7]. T

II1. The y-intercept of g(x) 1s (0, 0).

IV.g(-2)=4. F

V. g(x) is increasing on the intervals (-3, 0)/(1, 3)'!(5, 6).T

a)  None of these are true.
I I V

¢c) o1 10

d 1 100 Iv

e) III IV

f)  None of the above.
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Question 6
. Solv¢
Your answer 1s CORRECT. Ve
Find the x- and y-intercepts of the following function. x"‘."'l'““f"' - J=°

foo: (x+e) (x - #) flxy=x*—x—42 la-ini‘eru‘ol- - X2

a)  x-intercepts: (-6, 0) and (-7, 0); y-intercept: (0, -42) f(n) i ""2‘
. . . : -T2
@ x-intercepts: (-6, 0) and (7, 0); y-intercept: (0, -42) |J-m."’u:.¢f’{' [0, + )
¢)  x-intercept: (-42,0); y-intercept: (0, 42) x-l.!\'l'utf-f'l': ("" 0)
. . (% o)
d)  x-intercepts: (6,0)and (7, 0); y-intercept: (0, -42)
e)  There are no x-intercept or y-intercepts.
f)  None of the above.

Question 7

Your answer1s CORRECT.

Suppose that y =f(x) is an even function and that (-2, -4) is a point on the graph of f. Which of the
given points is also on the graph of f(x)? '.1- x;_

(4, 2) EVEN ldcﬁ'ni‘hb")
‘.xc‘d) o ('X,ﬂ)
(2, —4) N
_p.-4) & (2-94) Eve
(-2,-4

(2, 4]

(-0 (l,u)

L & H: Odd
N (—4, —2) Note 255> 0Dd

Y e xY)
(-2)-9) © (214)

et
e) (=»-!

f)  None of the above.

Question 8
Your answer 1s CORRECT.
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Determine whether the following function is even, odd, both or neither.

fven: Fiex = fo 53 000 : £(-3=-fux)

flx)y=x +x.—3

3
@ neither 'F‘.'x) s (-x)s'l' ['X) -3
b)  both - —xS-x3-3#fw
xa 3) NEIMTHER

¢)  odd -Fm--(X"'

xS-xtea ? OO

d) even

¢)  None of the above.

Question 9
Your answer 1s CORRECT.

Describe how the graph of g is obtained from the graph of f.

f(x)—xuhd stretn
4

g(x) = % (x+5)2+ 4
5 left

a)  Stretched vertically by a factor of 2/3, vertical shift of 4 units downward, horizontal shift of 5
units to the left.

b)  Stretched vertically by a factor of 2/3, vertical shift of 5 units upward, horizontal shitt of 4 units
to the right.

¢)  Stretched vertically by a factor of 2/3, vertical shift of 4 units upward, horizontal shift of 5 units
to the right.

d)  Stretched vertically by a factor of 2/3, vertical shift of 5 units downward, horizontal shift of 4
units to the left.

' Stretched vertically by a factor of 2/3, vertical shift of 4 units upward, horizontal shift of 5 units
0 the left.

f)  None of the above.

Question 10
Your answer 1s  CORRECT.
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State the translation of the key point (0, 0). Pm At ﬁ_
flx)=y4—x —5
a) (4.5 /' f }»n
A

b) (4,5 4 over

SR J \. DounS, leFt 4
¢) © (-4,-5) 2. reflect very
d (5.4 @

() — (0,%) > @) 5)

(4.-5)
down 5

f)  None of the above.

Question 11
Your answer 1s CORRECT.

Suppose the point (2, 3) lies on the graph of the function f(x). If the function 1s transformed as 2f (x -
4) + 3, which of these will be the coordinates of (2, 3) under the transformation?

a) (-2,9) lz|3) 2 Fu'*) a

b)  (6.7) (2,3) D (2,30) = (2/¢)
© ¢ e B a0 =

e
d -6, 3
) (-6,3) Lo, ‘.) (v, 5@

e (2,7

f)  None of the above.

Question 12
Your answer 1s CORRECT.

Given the following graphs of f and g, find f(3) + g (2).
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fia)+ 913

-+s= |4
a) 6

b) -7

¢) -6
4

e) 3

f)  None of the above.

Question 13

Your answer 1s CORRECT.

Given

Find the domain of

(-9, -6)\2(-6, 5)\(5. )

b) (-, -5)U(-5,6)U(6,®)
¢ (-, -6][5,®)

d) (-DD’-6)U(57DD)

Print Test

Fflx)=6x*—4x

and

g(:{)=x2+x—3[ﬁl
I
4
Fu‘ bx"-‘fx - bxl“"x

90 X34x-do  (x-5)lx+6)
X#S X#tl
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e) (-0, 2/3)\4(2/3,m)

f) = None of the above.

Question 14
Your answer 1s CORRECT.

Given the following graphs of f and g, find (ge/f)(1).

g

a) 5
b) -4

@ 4
d 1
e 2

f)  None of the above.

Question 15

Your answer 1s CORRECT.

Given the following functions, find g®f. 3 (.F(x‘)
flay=gi— T;
g(x)=6x—4 X=X

2
- G(K*-X) -t
72 2% — 108 x + 40 3LFU)) = b(X )
2) 2 bx*- bx-¢
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26 7% — 54 1 4 20

b)

12x4—12x—8
¢)

—Tx+4
d)

Exd— 6x— 4
e)

f) ~ None of the above.

Question 16

Your answer 1s CORRECT.
Given the following functions, find f(g (-2)).
Fx) =x+ 1
i) =5x— 3%
) g = 56D 3D
* -lo-12=-22
b) -8
O 42 f(-22) = -22+1< —= 2|
@ 21
e) 21

f)  None of the above.

Question 17
Your answer 1s CORRECT.

Which of the following functions are one-to-one? "_(t

/
L @) =5x+4 ¢
7 M
Il s@m)=2(x+4)
UL & x) =5 x| — 3 ——a

IV. gx)=54x =5
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b) = None of these are one-to-one.
(9w

d I I IV

e) 1 1 I

f) =~ None of the above.

Question 18
Your answer1s CORRECT.

Given the following table:

———

What is the value of f ™! (5)? =\

a) -3 3

b) 2 '524(5 ) =4
(9 -

d) -6

e 3

f)  None of the above.

Question 19
Your answer iIs CORRECT.

If fand g are inverse functions, f(6)=1 and f(-4)=6, find g (6).

-4
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b) -6 f_:xu4 3:’(3
b

¢) 1
d)  Not enough information.

0 = o(6) =4

f)  None of the above.

Question 20
Your answer 1s CORRECT.

Find the inverse of the given function, if possible.

o 3;—_5;
' - 3 +SK
3x4+ 5 ®lj -
) = Y
a =
@ X: 3+Sy @{"(n: 3+4X
x—4 Yy - -
| 34+ 5x : ﬂ ¥ X-5
by f(x)=
¢)  f(x) does not have an inverse. @ )Ql.'j -4) 3+53
5x— 3 Xy-4x = 3+3y
| x+4
d )= "5'53 = 344x
34 4x .j(x-S) = 3+,
xr—35
fl(x): B= 31'4')(
x-S
f) ~ None of the above.
Question 21
Your answer 1s CORRECT.

Use the Property of Inverse Functions to determine which of the given functions are inverses of each

other. 86()

g LhLi) =X = 4 L+ga)2
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gl) =1+ 1x

4
hix) =—2— L. X
4
a)  None of these are inverses of each other.
b)  fandh
¢) gandh
fand g
e)  None of the above.
Question 22
Your answer is CORRECT.
Given the following function, find f{-2p).
2
flx)=—"——x
x—13

4 2 H')'P):.L;}:ri- (-2p)

@ —ep—3 -2p-3

= 4p* +2p

4;:'2
e BT e
op—d - -2p-3
b)
Epz
e BB genn
N
¢)
4;:'2
e BB g
Top—a
d)
2;:-2
Bl e
TN
e)

f)  None of the above.
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Your answer 1s CORRECT.

Given

Find the difference quotient

, RFED

9
a) 0 (x+h+4)(x+4)
1
i) )
e
0 x+h+4) %
) 1
a0 (x+2+4) (x+4)
-8 —h
o (xHk+4)(x+a)k

f)  None of the above.

Question 24

Your answer 1s CORRECT.

Suppose
*=0

3. fixew -9
h
PR SO T

. fouh)=

—————

Xth+4

2. fixt - f)

-
-

[x.pbx'l-h-l"-l'

-1 xr),

| (xthtY)
X+4 (Xth+4)

NSORID)

bt + o) (x+4)

h

:(xm+)lx++)

K

(xan4) lx+4)
[

Lxta+4) (X *"‘)

Fmdthey—mterc/e'pt off(x 2). = CF('O 2) g(_,g> = Quaﬁ,ai‘e_

a) -5 x-o

®-! fL-2) =
¢ -3 =
d 5 =
&) -6 =

(-2t -3
-2(4 +14-5
-8+14-S

|
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Question 25

./
Your answer 1s CORRECT.
Find the linear function 7 with y-intercept 3 and f~1(0)=-1. <-:9 C’E(;l) — O
a) O fAx)y=-3x+3 X=o \Ft("h")

flx)=3x+3 (0,3)
roa‘n’f:(o,s)

¢ Jlx)=3x—-73
: .3 _ -3 =
0 Sl =-3x—1 Slope: Y = 0-3 - = 3
AX =1-0
e)  Jlx)=3x—1

y-3z 3(x9)

f)  None of the above.

3:3)(1-3
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